Section 5.1  Trigonometric Functions of Real Numbers

Here are some identities you need to know:
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Reciprocal Identities
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Opposite Angle Identities
f~sin(-t) = —sin)
.}, ] cos(-t) = cos(t)
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csc(—t) = —csc(t)
sec(—t) = sec(t)
cot(—t) = —cot(t)
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Pythagorean Identities
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Periodicity

sin(t + 2k ) =sin(t)
cos(t + 2kz) = cos(t)
sec(t + 27K) = sec(t)
csc(t + 27k) = csc(t)

tan(t + k) = tan(t)
cot(t + k) = cot(t)
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(for all real numbers t and all integers k.)
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Example 1 : Simplify:
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Example 3: Simplify: cos(—t) + cos(—t) tan 2 (-t)
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Example 4: Simplify: sec(t;ﬁ)n;cj;g;ﬁ@ _ SeC t « CSC/t

| Lt Yot

g | L et sint x (o5t

5\\4{- (o5 { sint Lost sint - C»OSJV

= — __,_______——‘—'—'______-
wst tost w5t

S £0§]l.' . L - ___,l—-_—i;' = /md:’
- Sk - gj/ M Gin



